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Name: __________________________________


1
Which function has the greatest y-intercept?

	1)
	[image: image1.png]flx) = 3x




	3)
	the line that has a slope of 2 and passes through [image: image2.png]




	2)
	[image: image3.png]2x+ 3y





	4)
	[image: image4.png]f(x)







2
Which function has the largest y-intercept?

	1)
	[image: image5.png]



	3)
	[image: image6.png]g(x) = |x|+ 3





	2)
	[image: image7.png]h(x)

x




	4)
	[image: image8.png]k(x)







3
For which function is the value of the y-intercept the smallest?

	1)
	[image: image9.png]1(x)
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	3)
	[image: image10.png]—1 3
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	2)
	[image: image11.png]g(x) = |x| +4




	4)
	[image: image12.png]






4
Which function has the smallest y-intercept? 

	1)
	[image: image13.png]



	3)
	[image: image14.png]x) = fx -2





	2)
	[image: image15.png]



	4)
	[image: image16.png]k(x)








5
Which function has the smallest y-intercept value?

	1)
	[image: image17.png]9(x)

X





	3)
	[image: image18.png]s






	2)
	[image: image19.png]h(x) = ~x -3




	4)
	[image: image20.png]Ax) =2+ 2x—








6
Three functions are shown below.

[image: image21.png])





[image: image22.png]



	x
	h(x)

	[image: image23.png]



	30

	[image: image24.png]



	14

	[image: image25.png]



	6

	[image: image26.png]



	2

	[image: image27.png]



	0

	0
	[image: image28.png]




	1
	[image: image29.png]-1.5





	2
	[image: image30.png]-1.75






Which statement is true?

	1)
	The y-intercept for [image: image31.png]


 is greater than the y-intercept for [image: image32.png]


.
	3)
	The y-intercept for [image: image33.png]


 is greater than the y-intercept for both [image: image34.png]a(x)



 and [image: image35.png]


.

	2)
	The y-intercept for [image: image36.png]


 is greater than the y-intercept for [image: image37.png]a(x)



.
	4)
	The y-intercept for [image: image38.png]a(x)



 is greater than the y-intercept for both [image: image39.png]


 and [image: image40.png]


.



7
The graph representing a function is shown below.

[image: image41.png]



Which function has a minimum that is less than the one shown in the graph?

	1)
	[image: image42.png]2 —fx+7





	3)
	[image: image43.png]2 -2x-10






	2)
	[image: image44.png]|x+3|-6




	4)
	[image: image45.png]|x-8|+2







8
Three functions are shown below. 

A: [image: image46.png]g() =2 144




B: [image: image47.png]



C:  [image: image48.png]hx)





Which statement is true?

	1)
	B and C have the same zeros.
	3)
	B has a minimum and C has a maximum.

	2)
	A and B have the same y-intercept.
	4)
	C has a maximum and A has a minimum.



9
The function [image: image49.png]


, which is graphed below, and the function [image: image50.png]g(x) = 2|x+4|-3



 are given.

[image: image51.png]>





Which statements about these functions are true?

I.
[image: image52.png]a(x)



 has a lower minimum value than [image: image53.png]


.

II.
For all values of x, [image: image54.png]h(x) < g(x)



.

III.
For any value of x, [image: image55.png]g(x) = h(x)



.

	1)
	I and II, only
	3)
	II and III, only

	2)
	I and III, only
	4)
	I, II, and III



10
The functions [image: image56.png]


 [image: image57.png]g (x),



 and [image: image58.png]pi(x)



 are shown below.

[image: image59.png]1)
4

> X





[image: image60.png]—1% -6





	x
	p(x)

	2
	5

	3
	4

	4
	3

	5
	4

	6
	5


When the input is 4, which functions have the same output value?

	1)
	[image: image61.png]


 and [image: image62.png]g (x),



 only
	3)
	[image: image63.png]3 (x)



 and [image: image64.png]pi(x)



, only

	2)
	[image: image65.png]


 and [image: image66.png]pi(x)



, only
	4)
	[image: image67.png]


 [image: image68.png]g (x),



 and [image: image69.png]pi(x)







11
Which graph does not represent a function that is always increasing over the entire interval [image: image70.png]-2 <x <2



?

	1)
	[image: image71.png]>X




	3)
	[image: image72.png]>X





	2)
	[image: image73.png]>X




	4)
	[image: image74.png]>X







12
Nancy works for a company that offers two types of savings plans.  Plan A is represented on the graph below.

[image: image75.png]Plan A
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Plan B is represented by the function [image: image76.png]Ax) = 0.01+0.05x%



, where x is the number of weeks.  Nancy wants to have the highest savings possible after a year.  Nancy picks Plan B.  Her decision is

	1)
	correct, because Plan B is an exponential function and will increase at a faster rate
	3)
	incorrect, because Plan A will have a higher value after 1 year

	2)
	correct, because Plan B is a quadratic function and will increase at a faster rate
	4)
	incorrect, because Plan B is a quadratic function and will increase at a slower rate



1
ANS:
4

1) [image: image77.png]


; 2) [image: image78.png]


; 3) [image: image79.png]


; 4) [image: image80.png]



REF:
081611ai

2
ANS:
3

1) -1; 2) 2; 3) 3; 4) 1
REF:
012411ai

3
ANS:
4

[image: image81.png]=3,g(0)=4k(0) =2,




REF:
082314ai

4
ANS:
1

1) -6; 2) 1; 3) -2; 4) -2
REF:
062115ai

5
ANS:
2

1) 1; 2) -3; 3) -2; 4) -1
REF:
082214ai

6
ANS:
4

The y-intercept for [image: image82.png]


 is [image: image83.png]


.  The y-intercept for [image: image84.png]a(x)



 is [image: image85.png]


.  The y-intercept for [image: image86.png]


 is [image: image87.png]


.
REF:
081811ai

7
ANS:
3
REF:
011622ai

8
ANS:
3

1) B’s zeros are [image: image88.png]


 and [image: image89.png]


 and C’s zeros are [image: image90.png]


 and [image: image91.png]


; 2) A’s y-intercept is 4 and B’s y-intercept is 12; 3) B in standard form, [image: image92.png]a >0



 and C in standard form, [image: image93.png]a <0



; d) A has no minimum
REF:
061914ai

9
ANS:
2

[image: image94.png]



REF:
081718ai

10
ANS:
4

[image: image95.png]



REF:
011921ai

11
ANS:
3
REF:
061820ai

12
ANS:
2
REF:
011723ai
